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ABSTRACT
In the general relativity theory, using Einstein’s revised gravity field equation (add the
cosmological term), discover the spherical solution of the quantum gravity.
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I.Introduction
This theory is that it discovers the spherical solution of the quantum gravity using the revised gravity field

equation(add the cosmological term).

Think that use following the formula.
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h is the plank constant, C is the light speed, G is the gravity constant, M is the matter’s mass.

The spherical solution (The Schwarzshild solution) of the general relativity is
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I1. Additional chapter -I
In this theory, the general relativity theory’s revised field equation (add the cosmological term) is written

completely.
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Eq (2) multiply g“* and does contraction,
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Therefore, Eq (2) is
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In this time, the spherical coordinate system’s vacuum solutionisby T, =0
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The spherical coordinate system’s invariant time is
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Using Eq(6)’s metric, save the Riemannian-curvature tensor, and does contraction, save Ricci-tensor.
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By Eq(11),
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By Eq(7) and Eq(8),
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If Eq(9) is inserted by Eq(14),
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In this time, be able to think following the formula.
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a,>0,8 >0, a,,a;, B, arereal numbers.

1 2GM
—=1-—
B rc

)1

c* hc
2(M)=a, (W) eXp[—al(GM 5

+%Z(M)r2

o, >0,8 >0, a,,a,, B, arereal numbers.
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Therefore, Eq(18) is
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o, >0,8 >0, a,,a,, B, arereal numbers.
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To know Eq(19)’s third term, does Newton’s limitation
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To know Eq(20)’s second term, use Hubble’s constant H
r
galaxy
Vgalaxxy T H Orgalaxw
0
a _ Vgalaxy _ IFgalaxy _ H r-galaxy _ H Zr
galaxy — - 2 0 - 0 "galaxy
To To To

\Y

is the galaxy’s velocity, T is the distant of the galaxy and the other galaxy, @y, isthe

galaxy galaxy

galaxy’s acceleration, T,, is the present universe’s time.
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Therefore, Eq(20)’s second term is concerned about the universe’s inflation. Therefore,
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Therefore, the universe’s time T is concerned about the galaxy’s mass M g,

I11. Additional chapter-11

About the spherical solution,
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In Eq(23),if h >0,

c* hc c*
(M) = ao(W)e X p-[al(GM 5 )21 GIM2
4 2
dr? =(1- ZGEA + & f - rz)dtz—iz[ dr - +r2d@® +r?sin’® g’
rc 3 G°M 1- 2GM o, r2)
rcc 3 G*M?
(24)
In Eq(23),if M — 0,
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The spherical solution (the vacuum solution) of the revised gravity field equation (add the cosmological
term) is
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o, >0,8 >0, a,,a,, B, arereal numbers.
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1. Conclusion

It found the spherical solution of the quantum gravity.
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